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replaced by a proper Question Booklet.

G- 80 WA aTelY wep wAT-QfEeR & | U TR 3eT & 1 s YR & ¥, Foverad @ dheet weh ST 3 fary
G G el B
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A INDIAN SPACE RESEARCH ORGANISATION SET
Gl |i5PE Field: CIVIL ENGINEERING Post Code: 25 A

1. U TAJCA AF &l T[ocd B oovooveee & Farg W 3w AR a7 W R
giar &
(a) h2 (b) h/3
(©) hi4 (d) h/5 |

2. Riekelt eI TR Tl 3R GEd et Qo & RA @ v wdor a6 F
T §

(a) 30% FTU BR W AGR &1 3R (b) 3§F F9U R W &6R § W
(0) 30% FUN BR W FR A 3 (d) 38F 98 BR W A $i AR

(a) 3frecre AT St 3R wgeTersT T ol
(b) 3iErehreraT TR Falt 3R e fa9ra Fat
(c) FISAAH DI Foll 3R IR AHT Fall
(d) A AR Folt AR AT [GECETI

4. U WIYIROT dleles T alelel Gl et o foIw
(a) 30 ST T GEAAT GIAT el g
(b) 3T ST AT GedHIT I HIAT TS
(c) FEHT wiaT$ WA e TRal

(d) FTT TS I ALer g
5.10 #ieY oura & UH ww & NA W &g & W&F d91 50 A/ @k 5, 36H
N 9T glamm
(a) 20 {BRAHS (b) 15 Y8/Ahs
(c) 10 {B/A%s (d) 5 Y&RAHE
6. TUE &I SHS §
(a) Newton sec (b) Newton/sec?
(c) Newton/sec? (d) Newton/sec
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Field: CIVIL ENGINEERING Post Code: 25 A

1. The Centre of Gravity of a right circular cone lies on its axis of symmetry at a

height of
(a) h/2 (b) /3
(c) h/4 (d) h/5

2. On a ladder resting on a smooth ground and leaning against a rough vertical wall,
the force of friction acts

(a) towards the wall at its upper end (b) away from the wall at its upper
end
(c) upward at its upper end (d) downwards at its upper end

3. A particle executes a simple harmonic motion. While passing through the mean
position, the particle possesses

(a) maximum kinetic energy and minimum potential energy
(b) maximum kinetic energy and maximum potential energy
(c) minimum kinetic energy and maximum potential energy
(d) minimum kinetic energy and minimum potential energy

4. To double the period of oscillation of a simple pendulum

(a) the mass of its bob should be doubled
(b) the mass of its bob should be quadrupled
(c) its length should be quadrupled

(d) its length should be doubled.

5. If the linear velocity of a point on the rim of a wheel of 10 m diameter, is 50 m/sec,
its angular velocity will be '

(a) 20 rad/sec - (b) 15 rad/sec
(c) 10 rad/sec (d) 5 rad/sec.

6. The unit of impulse, is
(a) Newton sec (b) Newton/sec?®
(e) Newton/sec? (d) Newton/sec

Technical Assistant 3 December, 2016
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7.@%3@3&@@?@%:&%&?{@%&%%36.0%ﬁwﬁr@r%méw

STHUT &Y TET &1 a) 3Tl HHaH aar
(a) 7000 fFaY gfer ©er
(c) 9000 frelY ufer =er

(b) 8000 foraT wfer Eer
(d) 11,000 frely wfer wer

swsgsifcmwwzﬁaz%maﬁéﬁﬁmémﬁr%ammﬁwmo
aﬂaamm%?ﬁmmﬂaaﬂwwa;aﬁﬂmmw ...... gl

(a)0.33
(e) 0.57

(b) 0.44
() 0.67

9wwmw@ﬁw$ﬁwmwaﬁrmw%mam
| mmmaﬁﬁﬁmmm%lmwwmﬁﬁm
(a) FAR IETEY-HTE W g

(b) AT FHY oY H1E W FHm
() HET HTTEY HTE I G

(d) B8 & g fg o g

10, af frd B3 & T A F 401 & IEEE W Ry A & ST, FHRET
o3 & 30% T&U ¥ IR Y 30 AARaH giaae H FHI oo 3T
# §g Sean
@l: n (byn:1
(c)l- (d)-1-1

112%6&1@3%15%@?&?@3%13000%%%3@%%@
ST &1 AR E=2.1x 10° kegfem? & &Y S Hl SEISHIOT GO

(a) 2.275 fR#HT
(c)0.02275 fA#T

(b) 0.2275 TR
(d) 2.02275 TR

12.ﬁwﬁquﬁmmwﬁmaﬂmqﬁaﬁaﬁrﬁmmnﬁ

IcUee] Sicisel bl 3Teldlcd

gl &,

(a)4 (®)3
()2 (d) 1.
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7. A satellite is said to move in a geo-synchronous orbit if it moves at an altitude of
36,000 km with a maximum velocity of about

(b) 8000 km per hour

(a) 7000 km per hour
(d) 11,000 km per hour

(c) 9000 km per hour

ght of 2.25 m on a smooth floor and rises to a height of

8. A ball is dropped from a hei
The coefficient of restitution between the ball and the

1.00 m after the bounce.

floor is
(a) 0.33 (b) 0.44
(c) 0.57 (d) 0.67

9. In a bar of large length when held vertically and subjected to a load at its lower
end, its ownweight produces additional stress. The maximum stress will be

(a) at the lower cross-section

(b) at the built-in upper cross-section
(c) at the central cross-section

(d) at every point of the bar,

10.1f all the dimensions of a bar are increased in the proportion n : 1, the proportion
with which the maximum stress produced in the prismatic bar by its own weight,
will increase in the ratio
(@1:n (b)
(6) 12 (d

n

1
01

ik

11.A steel rod of 2 cm diameter and 5 metres long is subjected to an axial pull of
3000 kg. If E =2.1 x 108 kg/cm?, the elongation of the rod will be
(a) 2.275 mm (b) 0.2275 mm

(c) 0.02275 mm (d) 2.02275 mm.

12.The ratio of the tensile stress developed in the wall of a boiler in the
circumferential direction to the tensile stress in the axial direction, is
(a) 4 ' (b) 3
(c) 2 (d) 1.

Technical Assistant 5 December, 2016
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13, el et 3T @ aRenfi R ST ¥
(@) TE & A aX wel el & aTol & SO arher & & A
(b)@gﬁaﬁmaﬂ?*aﬂ’fwﬁwﬁ?ﬂﬂaﬁm%mﬁ
(© TE & A Rw T qeil & arot & el darwer F &+

(d) §TH § PIS G

14.%@%Wﬂ9@éﬁﬂﬂﬁ$mmwaﬁmﬁm%
ML? ML*

(a)E?é (b)ﬁz

© = @
15. T 9 Fex T emwe B At @ BR & 3 X ¥ [g W 30 e M T T

3 PFeas o o gfafhar e gl

(a) 5 T HIX (b) 10 ToT FHIEX

(c) 15 TF HIeX (d) 20 T HEX
16.wﬁﬁ§ﬁmﬁaﬁa§hﬁmﬁmmnﬁqﬁw,mm

R ¥ FEETER Rl S &, 3 e Fed &

(a) 3w Hiciaer OEGAZRIRER)

(c) BRT UTcieel () aReha gfded
17. AT axel | g

(a) ATeACT (b) g TeTe

(c) FrS T (d) Ty T,
18. C.G.S. JoTel # QAT Y THS o

(a) BTU (b) STt

(c) gt (d) T
19.a§ammmﬁ$ﬁxﬂ,gﬂmaﬂﬁ%

(a) SAHET (b) GratiFTeX

(c) HATFHEX (d) e AT
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13.A bending moment may be defined as :
(a) Arithmetic sum of the moments of all the forces on either side of the section
(b) Arithmetic sum of the forces on either side of the section
(c) Algebraic sum of the moments of all the forces on either side of the section
(d) None of these.

14.Maximum deflection of a cantilever due to pure bending moment M at its free end,

IS
MLZ ML2
(@) == ®) —
M2 ML?
©) — @) 57

15.A shaft 9 m long is subjected to a torque 30 ton meter at a point 3 m distant from
either end. The reactive torque at the nearer end will be
(a) 5 ton metre (b) 10 ton metre
(c) 15 ton metre (d) 20 ton metre

16. The stress in the wall of a cylinder in a direction normal to its longitudinal axis,
duetoa
force acting along the circumference, is known as
(a) yield stress (b) longitudinal stress
(c) hoop stress (d) circumferential stress

17. Practical fluids possess

(a) viscosity (b) surface tension
(c) compressibility (d) all the above.
18.1n C.G.S. system the unit of viscosity is
(a) dyne (b) joule
(c) poise (d) Newton
19.To measure very low pressure, we use
(a) barometers (b) piezometers
(c) manometers (d) differential manometers.

Technical Assistant ” December, 2016
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20. aTg T AT & THRIOT ... ¥ 3eRaT & fAgia w 3maia §
(a) FSIHATT (b) 71far
(© Fe (d) BT F FIg QI

21, el WaTE & 3 el Y ST AR GU e AN QA A H I
gl § =
(a) TR AT (b) IS TN

(c) o8 T (d) A§T FEAT
2. Bl @fa & R HRETH Fd & WiT HOT Gl §
(a) 30° (b) 60°
(c) 90° (d) 120°
23. WTIET 3T oo ¥ §gfe qurd & AR Gard 1 A B §
(a) HHATA ATIHATT (b) TATA &aTd
(c) GATA TRHATOT ((YEIGICRY]
24. AT F BT, ATl FTAABH F .o ¥ fow fr S §
() 65 70% (b) 70 A 75%
(© 758 80% (d) 85%.

25.ﬁaﬁﬁﬁmmﬁ$m5ﬁma§ﬁmmmmmﬁmﬁ,
AN A RRTTETT TR

(a) TSI WSS (b) T SAITFAES
(c) HrdeT (d) 3Tt
26. ARG FA Y der 3T NT H g B ... R &gl ST §
(a) ThTTAT (b) Ehr#TT
() Rreeyar (d) &1 | PG AGT
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20.Equation of continuity of flow is based on the principle of conservation of
(a) mass (b) momentum
(c) force (d) none of these.

21.The ratio of the inertia and viscous forces acting in any flow, ignoring other forces,

is called
(a) Euler number (b) Frode number
(c) Reynold number (d) Weber number.

22.The notch angle for maximum discharge over a triangular notch, is
(a) 30° (b) 60°
(c) 90° (d) 120°

23. Relative humidity is the ratio of actual vapour pressure to the saturation vapour

pressure
(a) at the same temperature (b) at the same pressure
(c) in the same volume (d) in the atmosphere

24.For design of sewers, percentage of sewage discharge is assumed
(a) 65 to 70% (b) 70 to 75%
(c) 75 to 80% (d) 85%.

25.1f a paper moistened with lead acetate for five minutes when placed in manhole
turns black. The sewer certainly contains '

(a) Hydrogen sulphide (b) Carbon dioxide

(c) Methane (d) Oxygen
26.Removal of oil and grease from sewage, is known

(a) screening (b) skimming

(c) filtration (d) none of these.

Technical Assistant 9 December, 2016
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27. A% 50000 & TEET @y AeT 9 A e A 20 mld. § A HfARaH

&fae Ater gl
(a) 24 mld (b) 30 mld
(c) 36 mld (d) 54 mld.

28, 579 el aEET UidE i @ 3Ed fheaw ¥ fow adeTor R S
ad WS 0E. ool T 9 H ... T e afdse 7¢ oIEr e @gvl

(2) 5% (b) 10%
() 15% d)20%
20. T st Widfe aTer idhie fRsoT B ool 1 feRoT fRar S
(a) Ao AfFd odreTor (b) FEY adreror
(c) GETel SR TUETOT (d) ForeFalel AfeFd TLITOT strength test
30. B GRSET & AT AT F A FET S €
(a) ThIfEaT (b) FeIT3 T
(c) Traferdr (d) RefAfRYer
31.§$mﬁ$ﬁt%§ﬁvﬁrmaﬁrmﬁm ........... d HH AGT gl AR
(a) T & g (b) ST & el
(c)EarE @ wiafer (d) zarE ¥ ot A
32. afg Brsar R &1 acershR mwmw%,mﬁaé?éﬁqrmaﬂaﬁ
e &
WR? 2WR?
(a) — (b) -
(c)”;::2 (d) zero
33, A Rram/da? & vae g P, Rredyafeer a9 o AR FATGTAERAT H R
K%, ar
(a) P = Kn? (b) v = K/P?
(c) P =Kuv? (d) P = Ko.
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27.1f the average daily demand of a city of 50,000 population, is 20 mld. the
maximum daily demand is

(@) 24 mid (b) 30 mid
(c) 36 mld (d) 54 mid.

28.An ordinary Portland cement when tested for its fithess, should not leave any
residue on I.S. sieve No. 9, more than

(a) 5% (b) 10%

(c) 15% (d) 20%

29. Workability of concrete mix with low water cement ratio is determined by

(a) tensile strength test (b) slump test

(c) compaction factor test (d) flexural strength test

30. The final operation of finishing floors, is known as
(a) screeding (b) floating

(c) troweling (d) finishing

31.The radius of a bar bend to form a hook, should not be less than

(a) twice the diameter (b) thrice the diameter
(c) four times the diameter (d) five times the diameter

32.If Wis the load on a circular slab of radius R, the maximum circumferential
bending moment at the center of the slab, is

WR?2 2WR?
(@) 5 ()5
(c)?‘i""'—j (d) zero

33.1f Pis the wind pressure in kg/cm?, v is the velocity in km/hour and K is a constant
of
proportionality, then

(a) P = K/v? (b) v = K/P?
(&) P= Kg® (d) P = Kuv.
Technical Assistant 11

December, 2016
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34.

35

36.

37,

38.

39,

40.

Ry o @ o AR Ny F e & fae e @, G Tt
e AR . gellcl §

(a) FopfCaTar HX (b) SeRfeldT 4

(c) frfearer R (d) 3T TR,

de8 IME-A AT AT (fy=250) B g # AT v &
() 150 N/mm? (b) 157 N/mm? '

(c) 94 N/mm? (d) 165 N/mm?

T 20 T cure e sead AR, foraer el dera 2300 fRar & 3R aF
o.ooosﬁaﬁfﬁrmaﬁw%l afy dar @1 SEITT AR 2.1 x 108 Framda’ g,
ar afvan

(a) SoNTTCea 4T 7 & (b) Calliees of & §

() A8 foig W& (d) 38T A G e

T 80 DY FeT dkex F o gara 10 framdE? #) afex A & AU maTE
1] & wmmmmmzoom/ﬁwamm
&

(a) 1 GHT (b) 1.5 T
(c)2 €l (d)2.5 T
TR ISTART & earer i disg ge W
(a) 4.7 #I. (b) 5.7 # .
(c) 6.7 HI. (d) 7.7 #.

afy ey aifdveler arget Y A1 v, 38 ak B ST r, IECATHIT & FHROT
ngmﬁﬁﬁﬁwﬁ,mwmmm

O 0 =

(©) ”;'f (d) gg

e sitE Aer TeREt X T@r SR arelr Tt ofiel a8 gU Bl &
(a) 4.096 #I. (b) 5.096 HI.

(c) 6.096 HI. (d) 7.096 HT.
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34.The maximum axial load which is just sufficient to keep a column in a small
deflected
shape, is called
(a) crippling load (b) buckling load
(c) critical load (d) all the above.

35.The permissible stress in bending for rolled steel I-beams and channels (fy=250) ,
is
(a) 150 N/mm?2 (b) 157 N/mm?
(c) 94 N/mm?2 (d) 165 N/mm?

36.A 20 mm dia steel bar which is subjected to an axial tensile force of 2300 kg
produces a strain of 0.0008 . If Young’'s modulus of steel is 2.1 x 106 kg/cm?, the
bar is

(a) in the elastic range (b) in the plastic range
(c) at yield point (d) none of these.

37.Water pressure in a 80 cm water main is 10 kg/cm2. The minimum thickness of
the metal required for the water main, not to be stressed more than 200 kg/em?, is
(a)1cm (b) 1.5 cm
(B)2 e (d) 2.5 cm

38. The minimum width of the pavement of a national Highway should be

(a) 4.7 m (b) 5.7 m
(c)6.7m (d)7.7m

39.1f Vis speed of a moving vehicle, r is radius of the curve, g is the acceleration due
to gravity, W is the width of the width of the carriageway, the super elevation is

wv w2y
(a) o (b) o
V2 Vv
(€)= (d) 2%

40.Maximum wheel base distance provided on Indian B.G. tracks, is
(a) 4.096 m (b) 5.096 m
(c) 6.096 m (d) 7.096 m.
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41, 3G TR FT 3TALTRAT T G F drell FelIT T §...

(a) FTdT GiIg Follol (b) 3TRET Fela¥
(o) FEITE TR | (d) 55 TR,
42, 91aT €A B U HAT AT §
(a) EoeT f#TOT (b) 1Y fA#ToT
(c) 3ire e T (¢) e T
43, PTfafaa & ¥ #i-ar te e & gfafRfted S §?
(a)a?iﬁtﬁaﬂégé (b) ST SAITAT
(c) &aR & TR &ell (d) AT TS HT TTA HLAT

44. TRy Fiera &1 A fFHhradr @8 gidr §
(a) JTATITRR (b) B gedlhX
(c) HUTE U (d) TR W3

45, 3l wdseT & T dfdaer & RuRor & o, ARAT e AT G@RT
YA AT §

(a) GolEX A (b) e g

(c) Ve T (d) e
46, dr51 g oA A § S 9o gl

(a) 3&fiT oI (b) AT AR

() i 3R Fepoey AW (d) AN A PG AT
47. 5T &% AL gIh H, d4UF WM oo

(a) ©ISTOT T (b) ¥

(¢) dFe (d) g€ T
48 S.I SOTIel &, Telcd T g Bl & ...

(a) N/m’ (b) m/s

(c) kg/m? d) kg
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41.The sleepers which satisfy the requirements of an ideal sleeper, are
(a) cast iron sleepers (b) R.C.C. sleepers
(c) steel sleepers (d) wooden sleepers.

42. Power stations are generally treated as
(a) light construction (b) heavy construction
(c) industrial construction (d) electrical construction.

43. Which one of the following represents an event?
(a) concrete cured (b) fixing of door
(c) plastering of walls (d) selecting sites.

44. The most economical section for a column is
(a) rectangular (b) solid round
(c) flat strip (d) tubular section

45. For determination of allowable stress in axial compression, Indian Standard
Institution has adopted
(a) Engesser formula (b) Euler's formula
(c) Secant formula (d) Rankine formula

46.A beam is defined as a structural member subjected to
(a) axial loading (b) transverse loading
(c) axial and transverse loading (d) none of these.

47.1n water bound macadam roads, binding material, is
(a) stone dust (b) sand
(c) cement (d) brick dust.

48.In S.1. system, the unit for density is
(a) N/m?3 (b) m¥s
(c) kg/md (d) kg
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49,

Sek

Sl

32,

33.

54.

55.

e & AT agdr & BT & .. qT g fhar Sirar §

(a) 1600°C (b) 1000°C

(c) 1400°C (d) 1800°C

TR Yerstel B Starar A e JaRaHA (8.0D) Few arfgw
(a) Y (b) 10

(©) 20 (d) 5
m@a&mmnﬁaﬁnﬁraﬁsﬂqﬂéﬁmmm ............. RED
AT gar ¢

(a) 0.02BD (b) 0.03BD

(c) 0.04 BD (d) 0.05BD

greglanfthe TJ&TOT T T oo & FERET T g gl

(a) gadrT & (b) §9 STer foreral

(c) BT TUTTelr (d) el gy
LWWWW#WWW@W%@HW@W
CCIERY

(2) 0.80 L (b) 1.20 L

(©) 1.50 L (d)2.00 L

SToT & TTURN FARAT Bl BROT .o &1 suteufa g

(a) Ca 3R Mg & agaTafae (b) Ca 3T Mg & Hehe
(c) Ca 3T Mg ¥ FoREs  (d) Ca 3R Mg & BT
éﬁm@a@rg@w;ﬁé‘rwmmwﬁmwﬁwﬁmm

X 4,67, T ¥, c DA A T e 2l

A.23m
B.46m
C.78m
D.92m
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Sl | 157 Field: CIVIL, ENGINEERING Post Code: 25 A

49.The mixture of different ingredients of cement, is burnt at

(@) 1600°C (b) 1000°C

(c) 1400°C (d) 1800°C
50.Biochemical Oxygen Demand (B.O.D.) of safe drinking water must be

(a) nil (b) 10

(c) 20 (d) 5

51.The maximum area of compression reinforcement in a beam of cross section B x
D is limited to

(@) 0.02BD (b) 0.03BD
(c) 0.04BD (d) 0.05BD
52. Hydrographic surveys deal with the mapping of
(a) mountainous region (b) large water bodies
(c) canal system (d) heavenly bodies

53.The effective length of a circular electric pole of length L and constant diameter
erected on ground is,
(a) 0.80 L (b) 1.20 L
(c)1.50 L (d)2.00 L

54. Temporary hardness in water is caused by the presence of
(a) Bicarbonates of Ca and Mg (b) Sulphates of Ca and Mg
(c) Chlorides of Ca and Mg (d) Nitrates of Ca and Mg

55.The angle of elevation of a ladder leaning against a wall is 60° and the foot of the
ladder is 4.6 m away from the wall. The length of the ladder is:
A.23m
B.46m
C.7.8m
D.92m
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ISP Field: CIVIL ENGINEERING Post Code: 25 A

56.3@T y= x+3 3 Waerd y=5 — x* & ufcreded ¥g &

a) ('2!1) b) (211)
¢) (-1.2) d) (4,-1)
57. 0% TSt T AN UG A THL, oo gaffer Jmaede gl

a AT FHAAGY ST 61 Th HT
b)mmwﬁwwﬂtmmﬂﬁaﬁaﬁmw@t
c)mmﬁmwﬂtaﬂwwamaﬁaﬁwwm

d) FATAAR HaT3i & & de

-8 3

58.[2 -2] & fPcrerios A §
a) -6, -1 b) 6,-1
c) -6,1 d) 6,1

59.Fle7-TT e U FHHVT Fger AT ofend ALl G §?

a) 12, 16, 20 b) 9,5,6
¢) 6,10, 8 d) 15, 25, 20

60.330° f3ef ot &1 V3T A mrawre’lvrr

a) 2m b) /6

c) 11 /6 d) 2 /6
61.Log 2(1/128)2

a) -7 b) -14

c) 14 d) 7

62.3(5@R g (§ged) H Sehaar &
a) >1 b) <1

c) 0 d) goTat O S TN
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56.Intersection point of line y=x+3 & parabola y=5-x? is:

a) ('2:1) b) (211)
c) (-1,2) d) (4,-1)

57.When proving that a quadrilateral is a trapezoid, it is necessary to show.
a) Only one set of parallel sides
b) Only one set of parallel sides and one set of nonparallel sides
¢) One set of parallel sides and one set of congruent sides

d) Two sets of parallel sides

58. Eigen Values of

[z 23
2 =21 are
a) -6, -1 b) 6,-1
c) -6,1 d) 6,1
59. Which set does not represent the sides of a right angled triangle?
a) 12, 16, 20 b) 9,5,6
c) 6,10, 8 d) 18; 25; 20
60. Transform of 330° angle in degree measures to that in radian measures will be
a) 2 b) /6
c) 11 /6 d) 2 /6
61.Log 2(1/128)?
a) -7 b) -14
c) 14 d) 7
62. Eccentricity of ellipse is:
a) >1 b) <1
c)0 d) None of these
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sl |isFa Field: CIVIL ENGINEERING Post Code: 25 A

63.X@T 2x=y+3 HT TolleT ¢

a) 2 b) -2
c) 1/2 d) 2/3
64. (-2.5,3.4) Td (-4.4 &5.5) g3 & & gl &
a) 9.1 b)8.35
c) 0.91 d)7.5

65. FRET v Aol Y §T @Y 24 B Ul 7 gElEt W S W AE e R EIBED

ST HaRa (R ) AT F Fehdr gl
(a) 10% (b) 15%

(c) 20% (d) 25%
66. TT FihE B FTgA HEAd: AT gl &
(a) STel T FoTdear W (b) STl &I AT TR
() T & AET W (d) STT-HIHE 3T 9

67. fore sTara & Y 3R g @ § 9 Afda g @

(a) TeCee ufdear & (b) et wfshar &

(c) TEFR TfRaT | (d) 3igeT & ufsear &
68, SEATT 3 STITHIT HIAA BIAT & ooovvven

(2) 1.50% ¥ 5.6% (b) 0.05% A 1.75%

() 0.25% (d) &1 & IS AL
69.mgﬁuﬁﬁa§ﬁ%ﬁﬁsﬂsﬁ#mmwamﬁ3ﬁmm%

(a) g e (b) T T

(c) TS pfeer (d) Y e
70.a‘t3¢baﬁr3wa@w§ﬁznaﬁmaﬁ‘r3?§sw ........... o H®F G gl AR

b b
(ﬂ)g (b)g
© ¢ @ ;
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FOU|isTE Field: CIVIL ENGINEERING Post Code: 25 A

63. Slope of line 2x=y+3 is

a) 2 b) -2
c)1/2 d) 2/3
64. Distance between the points (-2.5,3.4) & (-4.4 &-5.5) is:
a) 9.1 b)8.35
c) 0.91 d)7.5

65.A 1st class brick immersed in water for 24 hours, should not absorb water (by
weight) more than

(@) 10% (b) 15%
(C) 20% (d) 25%
66. Strength of cement concrete primarily depends upon
(a) quality of water (b) quantity of water
(c) quantity of cement (d) water-cement ratio.
67.The steel which contains fissures and cavities, is manufactured by
(a) Cementation process (b) Crucible process
(c) Bessemer process (d) Open hearth process.
68. Steel contains carbon approximately
(@) 1.50% 10 5.6% (b) 0.05% to 1.75%
(c) 0.25% (d) none of these.
69. The foundation in which a beam is provided to join two footings, is known as
(a) strip footing (b) strap footing
(c) combined footing (d) raft footing
70.For a rectangular foundation of width b, eccentricity of load should not exceed
b b
(a)b p: (b)‘g
©); (d)
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37T Field: CIVIL ENGINEERING Post Code: 26 A

71, U1 AR FET G ¥ T raged e ¢, i gHenT
(a) F6eT &7 fovot gl &
(b) Nezrar AR gielr §
(c) FHOHT THFT Bl &
(d) S 3 3dar HEr Y aREdeRiedr & HROT Hrader uRade §lar §

72.§a$§a%ﬁa‘rgléézéﬁﬁwwmmﬁ:3ﬂﬁdméqﬁé€$w
&), 3T &gl ST §

(a) 3R S¢ (b) FATA FellolX
(c) faT FAleR (d) SafoT Fellolk
73. Wmmﬁmmammwmomaﬁwﬁmmlw
3T T B HTG HeT FHIC D deloll H oo % g STl g
(a) 10% b) 15%
(c) 20% (d) 25%

74.a§ﬁwmmﬁqwm$ﬁm%ﬂaﬂmﬁkwaﬂﬁ
& fOrT RRaT ST arell TAEToT ... FHEeICT gl

(2) THTCT HETOT (b) #7AfOTr FrefafoT
(c) N wefaror (d) aTefRTe |deTor
75. 3@ A9 A 3ifew qEDAT L A yred & ST gl
(a) CRITATA (b) TegaT Afear
(c) Te 8T HITATIE (d) 3T @,

76. A% | FaE Al do7 I Fifaa BRI ¥ T Fard # AR b E ar 39faa aoeT
GIR &

2
@) 2_5 ®
2
© % @ =
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|i57E Field: CIVIL ENGINEERING Post Code: 25 A

71.Black cotton soil is unsuitable for foundations because it's

(a) bearing capacity is low

(b) permeability is uncertain

(c) particles are cohesive

(d) property to undergo a volumetric change due to variation of moisture
content.

72.The piece of a brick cut along the centre of width in such a way that its length is
equal to that of full brick, is called
(a) half brick (b) queen closer
(c) king closer (d) beveled closer.

73. A concrete structure is set on fire and the temperature rises to 1000°C. The
strength of
concrete as compared to original strength reduces to
(a) 10% (b) 15%
(c) 20% (d) 25%

74.Surveys which are carried out to provide a national grid of control for preparation
of accurate maps of large areas, are known

(a) plane surveys (b) geodetic surveys

(c) geographical surveys (d) topographical surveys
75. Greater accuracy in linear measurements, is obtained by

(a) tachometry (b) direct chaining

(c) direct taping (d) all the above.

76.1f h is the difference in height between end points of a chain of length /, the
required slope correction is

(a)'é—; (b)
()~ ()

NN|x

2

no

!
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«;”‘{ﬁfﬁ_ﬂ Field: CIVIL ENGINEERING Post Code: 25 A

77. 3TUR F FW Ad Ieaadel H GeT @ae ©g e HEATT &
(a) §T ATH (b) 3MUR g
(c) el TR (d) west faig

78, R e Y@ 3R Hed Y@ & Aideoe & AT ... BT §
(a) 30° (b) 45°
(c) 60° (d)90° -

79. 9% E geat & aiefir siféeer Rk R A 8 @b st &1 adel 47w &

aR2E #RZE
a) — b
@ 5o ®) Toor
#R2E RE
c d) —
© 270° @ 360°

80.WWW$W,W@WWWT%W@WW¢

WWW#@W&F#W&#W#WW%W/
@2T ) 12T
(2T (d) 3T
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Field: CIVIL ENGINEERING

Post Code: 25 A

77.A relatively fixed point of known elevation above datum, is called
(a) bench mark (b) datum point

(c) reduced level (d) reference point.

78.The angle of intersection of a contour and a ridge line, is

(a) 30° (b) 45°
(c) 60° (d) 90°
79.1f E is the spherical excess and R the radius of the earth, the surface area of the

triangle, is

nR2E AR%E
(a) o (b)ﬁ

p 7T

()2 (d)

360°

80.1f two forces each equal to T in magnitude act at right angles, their effect may be

neutralized by a third force acting along their bisector in opposite direction whose
magnitude will be

(@2 T (b)1/2 T
(cW2T (d) 3T
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